OS ttZ eTeT /uTuT etuT
Process 5 jets =6 jets 5 jets =6 jets
Z+1f jets 265 =57 93 £20 <0.1 <0.1
Z+cc jets 341 +74 106 =23 <0.1 <0.1
Z+b jet 236 £59 68 =18 <0.1 <0.1
Z+bb jets 378+72 | 136+25 <0.1 <0.1
tt+1f jets 188+19 | 584+73 | 180+16 | 57.8+6.4
tt+hf jets 5716 | 30.6 8.3 5215 | 27.34+7.3
tbZ /ttWW 42+18 1.8£0.7 <0.1 <0.1
ttH 1.4+0.1 1.0£02 | 1.0x0.1 0.6 0.1
Background | 1470 +135 | 494+45 | 2334+21 | 85.8+9.7
ttZ 24055 | 282+68 | 1.3£03 0.8+0.2
ttW 1.1+£0.2 0501 | 1.2+0.2 0.840.2
Expected 1495+135 | 523+45 | 236 +21 | 87.4+9.7
Data 1493 526 251 78




